Transfers Report

This report contains the transfers results.

Contest Name	Ward 2 - Kintyre and the Islands
Valid Votes	2,889
Positions to be Filled	3
Quota	723

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Robin CURRIE	Scottish Liberal Democrats	474
Jane B KELLY	Scottish Labour Party	122
John MCALPINE	Independent	680
Dougie MCFADZEAN	Scottish National Party (SNP)	863
Alec MCNEILLY	Scottish Conservative and Unionist	276
Alastair John REDMAN	Independent	474
	Total	2,889

Candidate Dougie MCFADZEAN Elected with 863 votes, being in excess of the quota of 723

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Dougie MCFADZEAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robin CURRIE	257	0.16222	41.69054
Transfer to Jane B KELLY	115	0.16222	18.65530
Transfer to John MCALPINE	156	0.16222	25.30632
Transfer to Alec MCNEILLY	8	0.16222	1.29776
Transfer to Alastair John REDMAN	117	0.16222	18.97974
No further preference	210	0.16222	34.06620
Not transferred due to rounding			0.00414
	Total		140.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Jane B KELLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robin CURRIE	55	1.00000	55.00000
Transfer to John MCALPINE	30	1.00000	30.00000
Transfer to Alec MCNEILLY	7	1.00000	7.00000
Transfer to Alastair John REDMAN	9	1.00000	9.00000
Transfer to Robin CURRIE	58	0.16222	9.40876
Transfer to John MCALPINE	26	0.16222	4.21772
Transfer to Alastair John REDMAN	3	0.16222	0.48666
No further preference	21	1.00000	21.00000
No further preference	28	0.16222	4.54216
Not transferred due to rounding			0.00000
	Total		140.65530

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of John MCALPINE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robin CURRIE	156	0.02234	3.48504
Transfer to Alec MCNEILLY	91	0.02234	2.03294
Transfer to Alastair John REDMAN	129	0.02234	2.88186
Transfer to Robin CURRIE	68	0.00362	0.24616
Transfer to Alec MCNEILLY	2	0.00362	0.00724
Transfer to Alastair John REDMAN	39	0.00362	0.14118
No further preference	334	0.02234	7.46156
No further preference	73	0.00362	0.26426
Not transferred due to rounding			0.00380
	Total		16.52404

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Alec MCNEILLY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robin CURRIE	86	1.00000	86.00000
Transfer to Alastair John REDMAN	117	1.00000	117.00000
Transfer to Robin CURRIE	2	0.16222	0.32444
Transfer to Alastair John REDMAN	1	0.16222	0.16222
Transfer to Robin CURRIE	21	0.02234	0.46914
Transfer to Alastair John REDMAN	29	0.02234	0.64786
Transfer to Robin CURRIE	2	0.00362	0.00724
No further preference	80	1.00000	80.00000
No further preference	5	0.16222	0.81110
No further preference	41	0.02234	0.91594
Not transferred due to rounding			0.00000
	Total		286.33794

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Alastair John REDMAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robin CURRIE	305	1.00000	305.00000
Transfer to Robin CURRIE	65	0.16222	10.54430
Transfer to Robin CURRIE	60	0.02234	1.34040
Transfer to Robin CURRIE	16	0.00362	0.05792
No further preference	295	1.00000	295.00000
No further preference	56	0.16222	9.08432
No further preference	98	0.02234	2.18932
No further preference	23	0.00362	0.08326
Not transferred due to rounding			0.00000
	Total		623.29952